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Bole'ro Lm. Gioan Haø Traàn  

    Tình Ngaøi


Ñk:   Moät

Am


ngöôøi ñi

 
gieo


luùa


3

gioáng.

 
Haït


luùa

Dm


laéc raéc

 
nhö


gioït


3

  
Gieo


haït


luùa


raéc


nhö


gioït


3


möa.

Em

 
Tuoân rôi

Dm

 
treân khaép

 
caûnh


nöông


3

ñoàng.

Am




Tuoân




möa ô ô

 
ô ô

  
tuoân rôi.

  
Treân nöông ñoàng

  
tuoâi




rôi

G


nhö öôùc

 
voïng


ban


3

chieàu

C


nôi


ñaát


phuø


3

du.

E

 


rôi


trong


ban


chieàu


nôi


ñaát


phuø


3

du


(u).




Ngaøi

Am


troâng mong

 
cho


luùa


3

toát.

 
Ñeå


luùa

Dm


thaém maõi

 
moät


maøu


3

  
Ñeå


cho


luùa


maõi


maõi


maøu


3


xanh.

Em

 
Mong sao

Dm

 
cho luùa

 
troå


boâng


3

nhieàu.

Am




Mong




xanh ô ô

 
ô ô

  
mong sao.

  
Troå boâng nhieàu

  
mong






sao

G


cho luùa

 
ñöôïc


ñôm


3

haït

C


treân

Em7


caùnh


ñoàng


3

hoang.

Am


2.    Lôøi
1.   Ngaøy




sao


luùa


ñôm


haït


treân


caùnh


ñoàng


3

hoang.

 


Chuùa

aáy

Dm

thaép
Chuùa



saùng
ñeán



nieàm
traàn

3

tin.
gian.

Am 

Lôøi
Ngaøi



Chuùa
ñeán

G

thaùnh
xoùa



hoùa
aùch



ñôøi
laàm

3

con.
than.

C

 

Lôøi
Lôøi




Chuùa
Chuùa

F



chaát
höôùng



chöùa
daãn



nieàm
ñôøi


3

vui.
con.

E

 

Troïn
Troïn



ñôøi
ñôøi

E7



con
con

yeâu
tin

 

Ngaøi
Lôøi



maõi
Chuùa

3


maõi.
phaùn.

Am 

Töø
Vì

ngaøy
Lôøi

aáy
Chuùa

Dm

  

Chuùa
cöùu



giuùp
thoaùt



ñôøi
ñôøi

3

con.
con.

Am 

Vaø
Vaø

ngaøy
Lôøi

 


thaùng
Chuùa

G

Chuùa
giuùp



daãn
söùc



ñöôøng
hoàn

3

ñi.
con.

C

 

Ngöôøi
Lôøi

traàn
haèng

hôõi
soáng

F

  

tieáp
chaát



noái
chöùa



voøng
tình


3


tay.

thöông.

E

 

Mình
Vì

cuøng
tình

böôùc
Chuùa

  

gieo
con



raéc
böôùc



Tin
theo

3

Möøng.
Ngaøi.

Am




